| Efficiency vs Dxy |

0.1

Xy

5 S
O e e e F
Z S
50.08F
D R N
9007— """" AR
0.06F -
008
0.04F -
002t

eff

002F
00t

..................................

..................................

1.

Ratio

0.95

=
!

| Efficiency vs Dz |

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

IVIKETT UK

L]
M_TT_—MKFEIT_MODIF

KEITCowPtQ_ MODI

FITLowPtT"MODI

0.5

dz

ciency

ef

U] SRS S

0.05

]
)N S S
£ 0,35 o

| e
0,25t o
V] R S SR

....................................

O oo

K
— MKFITandPLess MODIF

Ratio

10 2030

TP dz (cm)




	Contents
	Page 1


